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MHEFHEBEE@O LMo

TRIEEHOEEEBY . EWALBLETET,
BHOBEHECBENIMHBRSAEETE . TROBYSHOELET,

!J‘\:’.'[[]f

BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 4.12|M/kWh
HAEEDEE A 401|M/kwWh
(1) ¥ & SR 2 B il = (S PR Bl #& — 37,200F) x E#EB{fi 1,000 = EEDEE 4.12|9/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 4.01|//kWh
A: 1K1Y O F R im g 79,720 A o: 0.4699
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.0000 = EE A B iff 0.189 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 0.7879 Rl = R A 2 B Al 0.184 M
FEHRRFMER = Axa +BxB +VXy =59000H  (100AXR&EMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 12.70
B: ETIABEEREMFRiR) 8.00
C: BhNZFEEEEE M (Fiik) 18.00

Uk
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RICTINE

BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 4.73|M/kWh
HAEEDEE Bl 4.57|FM/kWh
(1) BRE BR 2 Bl = (29 BHEi4% — 31,400 ) x BB {fi 1,000 = EEDEE 4.73|/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 4.57|F/kWh
A: 1K1Y O F R im g 79,720 A o: 0.1152
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.2714 = EE A B iff 0213 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 0.7386 Rl = R A 2 B Al 0.206 M
FEHRRFMER = Axa +BxB +VXy =53600M  (100AKREMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 12.69
B: ETIABEEREMFRiR) 7.00
C: BhNZFEEEEE M (Fiik) 14.00

Uk
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TRIEEHOEEEBY . EWALBLETET,
BHOBEHECBENIMHBRSAEETE . TROBYSHOELET,

BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 4.01|M/kWh
HAEEDEE A 3.96|/kWh
(1) BRRE BR 2E Bl = (2R BHEi4% — 44,200 ) x BB {fi 1,000 = EEDEE 4.01|F/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 3.96|F/kWh
A: 1K1Y O F R im g 79,720 A o: 0.1970
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.4435 = EE A B iff 0.224 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 0.2512 Rl = R A 2 B Al 0221 M
FEHRRFMERE = Axa +BxB +VXy =62100F  (100AKREMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 12.99
B: ETIABEEREMFRiR) 7.00
C: BhNZFEEEEE M (Fiik) 14.00

Uk
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Eremz

BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 2.39|M/kWh
HAEEDEE Bl 2.35|M/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 45,900 ) x BB {fi 1,000 = EEDEE 2.39|F/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 2.35|F/kWh
A: 1K1Y O F R im g 79,720 A o: 0.0275
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.4792 = EE A B iff 0223 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 0.4275 Rl = R A 2 B Al 0.220 M
FEHRRFMER = Axa +BxB +VXy =56600M  (100AKREMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 12.64
B: ETIABEEREMFRiR) 5.00
C: BhNZFEEEEE M (Fiik) 13.00

Uk




EtEEATIVZIEE-FHIEE]

2024 %

MHEFHEBEE@O LMo

TRIEEHOEEEBY . EWALBLETET,
BHOBEHECBENIMHBRSAEETE . TROBYSHOELET,
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BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 4.21|M/kWh
HAEEDEE Bl 4.16|F/kWh
(1) R & SR 2 B il = (S PR Bl A& —21,900F) x E#EB{fi 1,000 = EEDEE 4.21|//kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 4.16]4/kWh
A: 1K1Y O F R im g 79,720 A o 0.2303
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.0000 = EE A B iff 0.152 [
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 1.1441 Rl = R A 2 B Al 0.150 [
FEHRRFMERE = Axa +BXxB +VXy = 49600  (100AKEMERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 11.69
B: ETIABEEREMFRiR) 5.00
C: BhNZFEEEEE M (Fiik) 13.00

Uk
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BHOBEHECBENIMHBRSAEETE . TROBYSHOELET,

EIrem?z

BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 3.92|M/kwWh
HAEEDEE A 3.87|M/kwh
(1) PR B R 2 Bl = (IR BHE4% —27,100M) x BB {fi 1,000 = EEDEE 3.92|FM/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 3.87|M/kWh
A: 1K1Y O F R im g 79,720 A o: 0.0140
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.3483 = EE A B iff 0.158 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 0.7227 Rl = R A 2 B Al 0.156 [
FEHRRFMER = Axa +BxB +VXy =51900M  (100AXR&EMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 11.69
B: ETIABEEREMFRiR) 5.00
C: BhNZFEEEEE M (Fiik) 13.00

Uk
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BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 5.78|M/kWh
HAEEDEE A 5.61|H/kwWh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EEDEE 5.78|F/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 5.61|F/kWh
A: 1K1Y O F R im g 79,720 A o: 0.1543
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.1322 = EE A B iff 0.234 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 0.9761 Rl = R A 2 B Al 0.227 H
FEHRRFMER = Axa +BxB +VXxy =50700F  (100AKR&EMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 11.69
B: ETIABEEREMFRiR) 5.00
C: BhNZFEEEEE M (Fiik) 13.00

Uk
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XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 4.61|M/kWh
HAEEDEE Bl 4.48|F/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EEDEE 4.61|F/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 4.48|/kWh
A: 1K1Y O F R im g 79,720 A o: 0.2104
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.0541 = EE A B iff 0.188 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 1.0588 Rl = R A 2 B Al 0.183 M
FEHRFMER = Axa +BxB +VXy =50500M  (100AXREMEERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 11.65
B: ETIABEEREMFRiR) 5.00
C: BhNZFEEEEE M (Fiik) 13.00

Uk
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BT LRNT—

XA (E, B IRICRDIES I E (REDHEFSFIEHIA1.80/kWh) ZR M EFREEMA S
[E5IET 5D TIEAL AMIERICTESIZZITHhETWEET,

onji
cu

PAM B FRBE =R ERBEME +QEENRREM

=SEDEE BiaA 2.47|M/kWh
HAEEDEE Bl 2.43|M/kWh
(1) $RF & SR 2 B il = (S PR Bl #& — 27,400F) x E#EB{fi-1,000 = EEDEE 2.47|FM/kWh
202348 H ~2023F 10 A FH D E B sHiltE HAlBEDNEZE 2.43|FM/kWh
A: 1K1Y O F R im g 79,720 A o: 0.0053
B: 1t&H7=Y D FHLNGHHHE 89,220 M 0.1861 = EE A B iff 0.130 M
C: 1tdH1=Y DFH A HEifit& 27,303 [ 7 1.0757 Rl = R A 2 B Al 0.128 {
FEHRRFMER = Axa +BXxB +VXy = 46400  (100AKEMERA)
(2) MENREEM=A<BDGE. HIENABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh

A: BIADIVT7ISARAFHIE (Fitk) 11.50
B: ETIABEEREMFRiR) 5.00
C: BhNZFEEEEE M (Fiik) 13.00

Uk




